Y12 SPRING 1 - Chp. 2/8/11

A st

mc(,’a/; ( e x* &

T e o

Than, :

— e ———————

=0

q

l

The Fact |

Thiorem .‘

5 o d(M{'e %p'«'/m“\ with ﬁ whole /zwnéer

% ™ )
Staty Fhat / Jz(x) & a plga o,

= (x- -p) i M}/jij

© How 4o nee %/M‘W thavem :  There ave 2 7“7/044%?@,%4:

“ ‘ (v P nto Hw ))[L/luw,,,,a// +a //m
@ SAow P is mdl«ndw d j'(l’) f(/;) sl S/WU{LI,,/ //U,; s & 0~

77 éu,i/( 3%
QKW u/q?lé/ 7/,){) - V)(/c(/b/? & ¥ < 2 o J
are 7&0/{ 71/‘0064 qwr /e,%)vm

/A(//W //LLWt 24!

/lwf 7/(/7) o = /p 1 a/ﬂof‘ﬂv w///)[).

/)07 Novdad dy YA v (/%'/""Jf’ 7%¢ @ \\HbﬁWJe \ﬁ(x)
/H/Ma/;// L(7 (W%) /VM‘//‘W“.' st /flu Aol W‘:p ‘:;‘ .

P ]

A can

S o mwthemadeal Statement wlth L (7(/7’0(2 e,

A —)'Mwm w o mathemafical  Stafensnt bk hao been proven.

4 A mj mint | skcw bl amp s qou ase “’y, hm A &&M .M,Vm/?'q,(
L;* 7 Jf?of Hat ‘you /(z?;’mcfy fﬂow and st CWW M(/orné/e CM%

Yo Shovld cou

- s

wake o O condutkly hofensnt, ey riotuting Fhe
WJ/\M (/m)wfwe Hat yﬂu( Qe Mwlarom
Mﬁ%w&@ zx/ ,ﬂm,// /’« ‘

erakte mattonabead oéaﬁ
/?zﬂj okl vmtbe L anl) andl
;\ML/M LHS > KNS o RHS 5Lny

o ééwé down The 1ttt thts s, Ca-”,

A 000t pid e z& dectu (Do (o s,
X4 "‘/\,‘, - A Wovuﬁuﬂ’n)

/r"\b &\‘/\O’W“O‘A- Est»lw\;

(o + b)n: (Q)a"lf + (?)an\"lt:'-r (?} P P (?)a'wl,' 4 eee 4 2)a°|,"

Nvﬁtfl)lm )

,\\\

)~C

= nx(n ) s

T (A o

x Tx2x)
_ Aomécv G/Low’fﬁ
e ifemo ‘/m a .7"”‘73%7 a



Y12 Spring 1 — Chapter 11 — Vectors

Whereas a coordinate represents a
position in space, a vector
represents a displacement in space.

A vector has 2 properties:

* Direction
* Magnitude (i.e. length)

If P and Q are points then P_d is
the vector between them.

ifa= (;) lal = /x2 + y?

P

H If two vectors I’_(j and RS have
the same magnitude and
direction, they’re the same
vector and are parallel. " miehtseem

obvious, but
students sometimes
think the vector is
different because
the movement
occurred at a
different point in
space. Nope!

B Vector subtraction is defined
using vector addition and

negation:
a—b=a+ (-b)

5 ”/ ﬁ—b

'} The zero vector 0 (a bold 0),
represents no movement.

PQ+QP =0

In2D: 0 = (g)

n # A unit vector is a vector of magnitude 1.

i and j are unit vectors in the x-axis and
y-axis respectively.

= @) 1=

e.g. (§)=4(3)+3(1

AB = —BA and the two vectors

are parallel, equal in magnitude
but in opposite directions.

Triangle Law for vector addition:
AB + BC = AC

B b
a
C

A a+b

The vector of multiple vectors is

known as the resultant vector.
(you will encounter this term in Mechanics)

A scalar is a normal number, which can

be used to ‘scale’ a vector.

* The direction will be the same.

* But the magnitude will be different
(unless the scalar is 1).

/za/
If scalar is negative,

’k'l a opposite direction.
2

Any vector parallel to the vector a can
be written as Aa, where A is a scalar.

The implication is that if we can write
one vector as a multiple of another,
then we can show they are parallel.

“Show 2a + 4b and 3a + 6b are parallel”.
3a+ 6b = %(a + 2b) . parallel

In general, is a is a vector, then the unit
vector @ in the same direction is

a=—
la|



